o) PMMT

A-8200 Gleisdorf

DRAWING-No.:

P.CEO.011/49-1800.00
DRAWING-Title: tertiary air duct

TA CW1550-CW1100

Neugasse 111 REMARK:
DATE: 02.12.2024 REVISION: A PAGE-No.: 1/9
NAME: BL
AMOUNT DESIGNATION POS. | MATERIAL | WEIGHT | NORM REMARK BASE SIZE
2 Plate 1 1.0045 97,9 282x4737
8 mm
2 Plate 2 1.0045 304,9 747x4737
8 mm
1 Plate 3 1.0045 151,5 747x4737
8 mm
2 Plate 4 1.0045 85,7 261x4737
8 mm
24 [Plate 5 1.0045 3408,3 1678x1678
20 mm
16 |Plate 6 1.0045 970,5 1678x1678
20 mm
66 |Plate 7 1.0045 119,2 131x142
15 mm
66 |Plate 8 1.0045 146,6 111x220
12 mm
2 Pipe 9 1.4841 15,4 550
?114,3x6
8 Flange Type 11 B PN16 10 1.0045 35,5 DIN
DN 100/114,3 2633
8 Blind flange DN100 11 1.0045 45,2 DIN
Type 05A PN16 2633
8 Sealing IBC DN100 PN16 12 | KLINGERSIL 1,3 EN Thickness
C-4400 1514-1 2 mm
64 |Screw M16x65 13 8.8 zn. 78 ISO
4017
64 |Nut M16 14 8 zn. 2,0 ISO
4032
64 |Washer A16 15 St zn. 0,7 ISO
7090
1 Plate 16 1.0045 151,5 747x4737
8 mm
1 Plate 17 1.0045 542,8 2180x4737
8 mm
4 Plate 18 1.0045 180,6 300x2397
8 mm
2 Plate 19 1.0045 119,0 200x4737
8 mm
2 Plate 20 1.0045 51,8 514x1170
8 mm
REV. DESCRIPTION DATE [ NAME CARRY FROM PREVIOUS PAGE
ltems 100,246 changed. 31.0125 RM 6438,4 CARRY TO NEXT PAGE

Ol |T|o®




o) PMMT

A-8200 Gleisdorf

DRAWING-No.:

P.CEO.011/49-1800.00
DRAWING-Title: tertiary air duct

TA CW1550-CW1100

Neugasse 111 REMARK:
DATE: 01.10.2024 REVISION: A PAGE-No.: 2/9
NAME: BL
AMOUNT DESIGNATION POS. | MATERIAL | WEIGHT = | NORM REMARK BASE SIZE
2 Plate 21 1.0045 19,8 525x1238
8 mm
6 Plate 22 1.0045 414,4 1178x1238
8 mm
2 Plate 23 1.0045 19,0 469x1238
8 mm
2 Plate 24 1.0045 471 460x1170
8 mm
2 Plate 25 1.0045 89,4 1439x1798
15 mm
2 Plate 26 1.0045 68,5 1419x1739
15 mm
2 Plate 27 1.0045 77,5 1439x1719
15 mm
2 Plate 28 1.0045 56,4 440x555
15 mm
8 Pipe 29 1.0045 43 160
248,3x3,2
8 Reducing socket female 30 GTW 2,3 EN
G11/2"-G1/2" h.d.g. 10242
8 |Sq.plugT9R 1/2" 31 GTW 0,5 EN
h.d.g. 10242
2 Pipe 32 1.0045 1,3 270
?33,7x3,2
2 |Tee female 33 GTW 0,8 EN
G1" h.d.g. 10242
2 Pipe 34 1.0045 1,9 270
248,3x3,2
2 |Connector 35 1,4 Supply
by customer
6 Round 36 1.0045 3,5 427
215
6 Plate 37 1.0045 7.3 80x100
20 mm
6 PSA Lifting eye bolts 38 Cc15 1,7 DIN M16
360° rotatable 795
1 Plate 39 1.0045 542,8 2180x4737
8 mm
2 Plate 40 1.0045 308,1 586x4737
8 mm
REV. DESCRIPTION DATE [ NAME 6438,4 CARRY FROM PREVIOUS PAGE
Items 100,246 changed. 31.01.25 RM 8106,5 CARRY TO NEXT PAGE

Ol |T|o®




o) PMMT

A-8200 Gleisdorf

DRAWING-No.:

P.CEO.011/49-1800.00
DRAWING-Title: tertiary air duct

TA CW1550-CW1100

Neugasse 111 REMARK:
DATE: 02.12.2024 REVISION: A PAGE-No.: 3/9
NAME: BL
AMOUNT DESIGNATION POS. | MATERIAL | WEIGHT = | NORM REMARK BASE SIZE
2 |Plate 41 1.0045 178,4 437x4737
8 mm
2 |Plate 42 1.0045 77,3 199x4737
8 mm
2 |Plate 43 1.0045 86,2 214x4737
8 mm
2 |Plate 44 1.0045 178,4 437x4737
8 mm
2 |Plate 45 1.0045 175,0 363x4737
8 mm
4  |[Plate 46 1.0045 126,4 210x2397
8 mm
1 Plate 47 1.0045 129,6 440x4737
8 mm
2 |Pipe 48 1.4841 16,6 660
3114,3x6
4 [Elbow 50° 114,3x3,6 3D 49 1.0045 5,2 DIN
R=152 2605
1 Plate 50 1.0045 129,6 440x4737
8 mm
2 |Plate 51 1.0045 1151,4 1935x4737
8 mm
8 |Plate 52 1.0045 361,3 300x2397
8 mm
2 |Plate 53 1.0045 606,9 1020x4737
8 mm
6 [Plate 54 1.0045 255,9 300x2264
8 mm
12 |Plate 55 1.0045 787,0 775x1710
15 mm
24 |Plate 56 1.0045 60,9 100%x215
15 mm
12 |Plate 57 1.0045 182,0 215x599
15 mm
4  |Plate 58 1.0045 254,3 300x1800
15 mm
8 |Plate 59 1.4301 334 280x380
5mm
2 |Plate 60 1.0045 349,1 665x4737
8 mm
REV. DESCRIPTION DATE [ NAME 8106,5 CARRY FROM PREVIOUS PAGE
ltems 100,246 changed. 31.0125 RM 13251,4 CARRY TO NEXT PAGE

Ol |T|o®




o) PMMT

A-8200 Gleisdorf

DRAWING-No.:

P.CEO.011/49-1800.00
DRAWING-Title: tertiary air duct

TA CW1550-CW1100

Neugasse 111 REMARK:
DATE: 02.12.2024 REVISION: A PAGE-No.: 4/9
NAME: BL
AMOUNT DESIGNATION POS. | MATERIAL | WEIGHT | NORM|  REMARK BASE SIZE
2 [Plate 61 1.0045 203,2 498x4737
8 mm
1 Plate 62 1.0045 4933 2096x4737
8 mm
2 [Plate 63 1.0045 130,9 220x4737
8 mm
2 |Plate 64 1.0045 52,5 581x1170
8 mm
2 |Plate 65 1.0045 19,4 507x1238
8 mm
2 |Plate 66 1.0045 20,6 596x1238
8 mm
2 |Plate 67 1.0045 46,4 497x1170
8 mm
2 |Plate 68 1.0045 126,1 300x1800
15 mm
2 |Pipe 69 1.4841 15,3 575
3114,3x6
1 Plate 70 1.0045 4933 2096x4737
8 mm
2 |Plate 71 1.0045 456,4 767x4737
8 mm
1 Plate 72 1.0045 288,8 1380x4652
8 mm
2 |Plate 73 1.0045 24,9 49x4046
8 mm
2 [Plate 74 1.0045 240,8 1458x1458
20 mm
2 |Pipe 75 1.4841 16,2 588
3114,3x6
1 Plate 76 1.0045 288,8 1380x4652
8 mm
2 [Plate 77 1.0045 393,5 775x4046
8 mm
2 [Plate 78 1.0045 332,9 1167x4482
8 mm
2 [Plate 79 1.0045 450,3 758x4737
8 mm
2 |Plate 80 1.0045 104,9 1458x1458
20 mm
REV. DESCRIPTION DATE| NAME | 13251,4 CARRY FROM PREVIOUS PAGE
a [ltems 100,246 changed. 31.0125 RM 17450,0 CARRY TO NEXT PAGE
b
C
d




o) PMMT

A-8200 Gleisdorf

DRAWING-No.:

P.CEO.011/49-1800.00
DRAWING-Title: tertiary air duct

TA CW1550-CW1100

Neugasse 111 REMARK:
DATE: 02.12.2024 REVISION: A PAGE-No.: 5/9
NAME: BL
AMOUNT DESIGNATION POS. | MATERIAL | WEIGHT = | NORM REMARK BASE SIZE
2 Pipe 81 1.0045 10,6 4354
021,3x2,3
2 Pipe 82 1.0045 12,1 5045
021,3x2,3
12 |Pipe 83 1.0045 0,2 181
021,3x2,3
4  [Pipe 84 1.0045 0,1 61
021,3x2,3
4 Socket female 85 GTW 0,5 EN
G1/2" h.d.g. 10242
2 Plate 86 1.0045 1294,2 2175x4737
8 mm
1 Plate 87 1.0045 541,2 2175x4737
8 mm
2 Plate 88 1.0045 46,4 497x1170
8 mm
2 Plate 89 1.0045 20,6 596x1238
8 mm
2 Plate 90 1.0045 19,4 507x1238
8 mm
2 Plate 91 1.0045 52,5 581x1170
8 mm
1 Plate 92 1.0045 541,2 2175x4737
8 mm
2 Plate 93 1.0045 401,6 675x4737
8 mm
2 Plate 94 1.0045 160,1 346x1965
15 mm
4  |Plate 95 1.0045 263,8 285x1965
15 mm
4  |Plate 96 1.0045 259,1 280x1965
15 mm
10 |Plate 97 1.0045 104,0 280x346
15 mm
8 Plate 98 1.0045 50,4 230x350
10 mm
8 Plate 99 1.0045 4,8 210x330
5mm
8 [Sliding plate 100 PTFE 33,0 179x299
10 mm
REV. DESCRIPTION DATE| NAME | 17450,0 CARRY FROM PREVIOUS PAGE
Items 100,246 changed. 31.01.25 RM 21265,5 CARRY TO NEXT PAGE

Ol |T|o®




o) PMMT

A-8200 Gleisdorf

DRAWING-No.:

P.CEO.011/49-1800.00
DRAWING-Title: tertiary air duct

TA CW1550-CW1100

Neugasse 111 REMARK:
DATE: 02.12.2024 REVISION: A PAGE-No.: 6/9
NAME: BL
AMOUNT DESIGNATION POS. | MATERIAL | WEIGHT = | NORM REMARK BASE SIZE
8 Rectangular rod 101 1.0045 30,5 43x60
200 mm
8 Plate 102 | 1.0045 19,7 100x220
15 mm
32 |Screw M10x16 103 8.8 zn. 0,5 ISO
10642
24 |Screw M20x45 104 | 8.8 zn. 4,5 ISO
4017
24 |Washer A20 105 St zn. 04 ISO
7089
2 Plate 106 | 1.0045 162,0 350x1965
15 mm
2 Plate 107 | 1.0045 76,8 166x1965
15 mm
2 Plate 108 | 1.0045 165,5 360x1965
15 mm
10 |Plate 109 | 1.0045 52,8 166x350
15 mm
2 Plate 110 | 1.0045 59,2 128x1965
15 mm
10 |Plate 111 1.0045 32,9 128x280
15 mm
112
113
114
115
116
117
118
119
120
REV. DESCRIPTION DATE | NAME | 21265,5 CARRY FROM PREVIOUS PAGE
ltems 100,246 changed. 31.0125 RM 21870,3 CARRY TO NEXT PAGE

Ol |T|o®




Z0) PMT

A-8200 Gleisdorf

DRAWING-No.:

P.CEO.011/49-1800.00
DRAWING-Title: tertiary air duct

TA CW1550-CW1100

Neugasse 111 REMARK:
DATE: 01.10.2024 REVISION: A PAGE-No.: 7/9
NAME: RM
AMOUNT DESIGNATION POS. | MATERIAL | WEIGHT | NORM REMARK BASE SIZE
1 Plate 200 | 1.0045 441,7 1275x6151
8 mm
2 Plate 201 1.0045 1205,9 2692x5035
8 mm
2 Plate 202 | 1.0045 55,9 94x4737
8 mm
11 |Plate 203 | 1.0045 2048,1 2128x2128
20 mm
2 Plate 204 | 1.0045 121,3 1678x1678
20 mm
8 Plate 205 | 1.0045 1056,2 2160x2185
15 mm
3 Plate 206 | 1.0045 254,3 320x2250
15 mm
8 Plate 207 | 1.0045 124,7 215x617
15 mm
24 |Plate 208 | 1.0045 60,0 100x215
15 mm
4 Plate 209 | 1.0045 623,8 400x6208
8 mm
6 Plate 210 | 1.4301 34,6 300x490
5mm
31 |Plate 211 1.0045 68,8 111x220
12 mm
31 |Plate 212 | 1.0045 55,9 131x142
15 mm
1 Plate 213 | 1.0045 886,6 2295x6151
8 mm
1 Plate 214 | 1.0045 2241 580x6151
8 mm
4 Plate 215 1.0045 389,8 2 pcs. loose |500x3104
8 mm
8 Plate 216 | 1.0045 627,3 2128x2128
20 mm
1 Plate 217 | 1.0045 629,3 1904x6151
8 mm
2 Plate 218 | 1.0045 103,0 1198x1308
8 mm
2 Plate 219 | 1.0045 44,9 442x1190
8 mm
REV. DESCRIPTION DATE| NAME | 21870,3 CARRY FROM PREVIOUS PAGE
ltems 100,246 changed. 31.0125 RM 30926,3 CARRY TO NEXT PAGE

Ol |T|o®




DRAWING-No.: P.CEO.011/49-1800.00
@ p M I DRAWING-Title: tertiary air duct
A-8200 Gleisdorf TA CW1550-CW1100
Neugasse 111 REMARK:
DATE: 01.10.2024 REVISION: A PAGE-No.: 8/9
NAME: RM
AMOUNT DESIGNATION POS. | MATERIAL | WEIGHT = | NORM REMARK BASE SIZE
2 Plate 220 | 1.0045 18,4 448x1308
8 mm
2 Plate 221 1.0045 15,7 329x1308
8 mm
2 Plate 222 | 1.0045 32,5 325x1190
8 mm
2 Plate 223 | 1.0045 2,4 80x100
20 mm
2 Round 224 | 1.0045 1,2 427
@215
2 PSA Lifting eye bolts 225 Cc15 0,6 EN M16
360° rotatable 795
5 Plate 226 | 1.0045 5746,2 2975x6151
8 mm
1 Plate 227 | 1.0045 1148,9 2975x6151
8 mm
1 Pipe 228 | 1.0045 0,6 270
@?33,7x3,2
1 Pipe 229 | 1.0045 0,5 160
248,3x3,2
1 Pipe 230 | 1.0045 1,0 270
248,3x3,2
1 G1"-1/2"-1" 231 GTW 0,4 EN female
Tee reducing 90° h.d.g 10242
1 Reducing socked 232 GTW 0,3 EN female/
G11/2"/G 1/2" h.d.g. 10242 female
1 Plug R1/2" 233 GTW 0,1 square +
h.d.g. octagon
1 Connector 234 0,7 Supply
by customer
1 Plate 235 | 1.0045 703,1 2200x6151
8 mm
1 Plate 236 | 1.0045 2741 815x6151
8 mm
1 Plate 237 | 1.0045 105,3 300x2250
20 mm
3 Plate 238 | 1.0045 2389 280x2415
15 mm
3 Plate 239 | 1.0045 2440 286x2415
15 mm
REV. DESCRIPTION DATE [ NAME | 30926,3 CARRY FROM PREVIOUS PAGE
a [ltems 100,246 changed. 31.0125 RM 39461,2 CARRY TO NEXT PAGE
b
C
d




Z0) PMT

A-8200 Gleisdorf

DRAWING-No.:

P.CEO.011/49-1800.00
DRAWING-Title: tertiary air duct

TA CW1550-CW1100

Neugasse 111 REMARK:
DATE: 01.10.2024 REVISION: A PAGE-No.: 9/9
NAME: RM
AMOUNT DESIGNATION POS. | MATERIAL | WEIGHT = | NORM REMARK BASE SIZE
3 Plate 240 | 1.0045 113,5 133x2415
15 mm
15 |Plate 241 1.0045 50,7 133x280
15 mm
6 Plate 242 | 1.0045 54,1 250x460
10 mm
6 Plate 243 | 1.0045 45 230x440
5mm
6 Plate 244 | 1.0045 22,8 43x200
60 mm
6 Plate 245 | 1.0045 14,7 100x220
15 mm
6 Plate 246 PTFE 37,9 199x409
10 mm
24 |Hex. Socked countersunk 247 8.8 04 DIN
head screw M10x16 h.d.g. 7991
18 |Screw M20x45 248 8.8 3,3 ISO
h.d.g. 4017
18 |Washer M20 249 St. 0,3 ISO
h.d.g. 7090
REV. DESCRIPTION DATE| NAME | 39461,2 CARRY FROM PREVIOUS PAGE
ltems 100,246 changed. 31.0125 RM 39763,4 CARRY TO NEXT PAGE

Ol |T|o®




